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Select the most appropriate option to improve the —
underlined segment in the given sentence. If there is no
need to improve it, select ‘no improvement required’.

Saroj has been suffering with osteoporosis from when
she was fifty years old.

A) from osteoporosis from when
B ) with osteoporosis since

C ) no improvement required

D) from osteoporosis since

Answer: D




Select the misspelt word.

A nobility
B inquiry
Cincite

D enimity

Answer: D




Select the most appropriate active form of the given
sentence.

A bed time story was made by him for me every night.

A | made a bed time story for him every night.
B He has made a bed time story for me every night.

C He has been making a bed time story for me every night.
D He made a bed time story for me every night.

Answer: D






Select the word which means the same as the group of words given.

a book or set of books giving information on many subjects or on
many aspects of one subject and typically arranged alphabetically.

A) Thesaurus
B) Encyclopedia
C) Glossary

D) Dictionary

Answer: B




Select the most appropriate one word to | —
substitute the given group of words.

one who is all powerful
A) emperor

B ) omnipotent
C ) sovereign

D) conqueror

Answer: B




| told you that | had bought a new book for you the day before.
A) | told to you, “I have bought a new book for you yesterday.”
B ) I said to you, “You have bought a new book for me the day
before.”

C) | said to you, “l have bought a new book for you the day
before.”

D) | said to you, “l bought a new book for you yesterday.”

Answer: D



Select the option that expresses the given sentence in passive voice.

Nobody has brought this fact to my notice.

A) This fact is not being brought to my notice by nobody.
B) This fact had not been brought to my notice by anybody.
C) This fact was not brought to my notice by anybody.

D) This fact has not been brought to my notice by anybod

Answer: D




Select the option that expresses the given sentence in indirect speech.
He said, “Oh, how | would have loved to visit Kashmir this year.”

A He exclaimed how | would have loved to visit Kashmir this year.

B He exclaimed that he would have really loved to visit Kashmir that
year.

C He said that he will have loved to visit Kashmir this year.

D He exclaimed that how he would have loved to visit Kashmir that
year.

Answer: B




Select the most appropriate one word to substitute the given™
group of words.

one who speaks for others
A) orator

B) spokesperson
C) verbose

D) talkative

Answer: B




some part of the sentences have errors find
which part has error :-

The list of candidates admitted to the test (A)/
should be remain(B)/ with the invigilator
during the test. (C)/ No error (D)

Ans :- 2 ( remained )



choose the word opposite in meaning to the given word. ———

BLEAKER
(A) Hopeful
(B) Warm
(C) Cosy

(D) Sheltered

Ans :- b




Given below are four sentences in jumbled order.
Pick the option that gives their correct order.

A. Another advantage is that we can have an
opportunity to learn to speak a new language
fluently.

B. The main advantage of living somewhere else

is that you get the opportunity to experience new

cultures.

C. Of course, living away from home has its
disadvantage too, such as being away from
friends and family for long periods of time.

D. Should we live in one place for all our life or
experience living in different places?

A BCAD
B BDAC
C DCAB
D DBAC

Answer: D




Given below are four jumbled sentences. Pick the option
that gives their correct order.

A. Using his mother’s show-business contacts, Charlie
became a professional entertainer in 1897.
B. B. He spent his early childhood with his mother, the

singer Hannah Hall, after she and his father separated.

C. Even today Charlie is widely regarded as the greatest
comic artist of the screen and one of the most important
figures in motion-picture history. D. Charlie Chaplin was
born on April 16, 1889 in London and named after his
father, a British music-hall entertainer.

1.CBDA
2. CABD
3. DABC
4. DBAC

Ans -4




Select the most appropriate option to fill in the
JENLE

All human beings must learn to live in with
nature.

1. Kindness
2. pleasure
3. admiration
4. harmony

Ans :- 4




Find a word that is the ANTONYM OF
animosity

1. sarcasm

2. Benevolence
3. bitterness

4. Contamination

Ans :- 2




Choose the most appropriate option to change the voice Sactive /
passive) form of the given sentence.

| regret the way | treated you.

1. | regret the way you were being treated by me.
2. | regret the way you were treated by me.

3. I regret the way | am treating you.

4. | regret the way you treated me.

Ans :- 2



Choose the most appropriate option to change the voice (active
/ passive) form of the given sentence.

| owe a big debt of gratitude to my mentor, Ms. Pallavi Dutta.

1. A big debt of gratitude had been owed by me to my
mentor,Ms. Pallavi Dutta.

2. A big debt of gratitude was owing by me to my mentor,Ms.
Pallavi Dutta.

3. A big debt of gratitude will be owed by to my mentor, Ms.
Pallavi Dutta.

4. A big debt of gratitude is owed by me to my mentor, Ms
Pallavi Dutta.

Ans -4



Choose the most appropriate option to change the narration (direct / ..
indirect) of the given sentence.

Mrs. Sethi said to her students, “Would you like to go outdoors for the
yoga class?”

1. Mrs Sethi asked her students whether they would like to go
outdoors for the yoga class.

2. Mrs Sethi asked her students about their liking to go outdoors for
the yoga class.

3. Mrs Sethi told her students that would you like to go outdoors for
the yoga class.

4. Mrs Sethi said to her students will you like to go outdoors for the
yoga class?

Ans :-1



Select the segment which has an error.

It is estimated that most of the addict, a whopping 85%, in God’s own
country Kerala, are below 25 years of age.

1. It is estimated that
2. are below 25

3. most of the addict
4. a whopping 85%

Ans :- 3




Identify the best way to improve the underlined part of the given

sentence. If there is no improvement required, select ‘no
improvement’-

There was a time when it was fashionable to have a dainty dog,
such as the poodles or any other tiny creature as a pet.

1. like as the poodle
2. such as a poodle

3. No improvement.
4. much like a poodles

Ans :- 3




|dentify the best way to improve the underlined part of the given

. . . 3 | —
sentence. If there is no improvement required, select ‘no
improvement’-

The vicious cycle of poverty refers to the situation where those who are
poor will trapped in poverty.

1. would be trap

2. will remain trapped
3. No improvement.
4. were trapping

Ans :- 2




Choose the most appropriate option to change the narration (direct / indirect)
of the given sentence.

The RWA members said, “We want to see the audited accounts before we
make more payments.”

1. The RWA members are saying that they want to see the audited accounts

before they make more payments.
2. The RWA members said that they wanted to see the audited accounts before

they made more payments.
3. The RWA members said that we want to see the audited accounts before we

make more payments.
4. The RWA members said we wanted to see the audited accounts before we

make more payments.

Ans ;- 2



In the following passage some words have been deleted.

Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each number.

Temptations of one kind or another lure everyone. The
important thing is (1) them from gaining a
foothold in our (2) . As soon as we detect the first
) of temptation, we should become watchful
and (4) our attention to good or noble thoughts.
©) we wait till the temptation becomes too
strong we are likely to fall.

Select the most
appropriate option
to fill in the blank
No. 1.

1. to preventing
2. prevented

3. to prevent

4. Prevent

Ans -3




Temptations of one kind or
another lure everyone. The
important thing is (1) them
from gaining a foothold in our

(2) . As soon as we detect
the first (3) of temptation,
we should become watchful and
(4) our attention to good or
noble thoughts. (5) we wait
till the temptation becomes too
strong we are likely to fall.

Select the most
appropriate option to fill
in the blank No. 2.

1. minds
2. Bodies
3. eyes
4. souls

Ans :- 1




Temptations of one kind or another
lure everyone. The important thing is
(1) them from gaining a
foothold in our (2) . As soon as
we detect the first (3) ol
temptation, we should become
watchful and (4) our attention
to good or noble thoughts. (5)

we wait till the temptation becomes
too strong we are likely to fall.

Select the most appropriate
option to fill in the blank No. 3.

1. messages
2. signs
3. codes

4. Symbols

Ans :- 2




Temptations of one kind or another lure
everyone. The important thing is (1)
them from gaining a foothold in our
(2) . As soon as we detect the first

) of temptation, we should become
watchful and (4) our attention to good
or noble thoughts. (5) we wait till the
temptation becomes too strong we are likely
to fall.

Select the most
appropriate option to fill
in the blank No. 4.

1. turn
2. revolve

3. change
4. Twist

Ans :- 1




Temptations of one kind or another lure
everyone. The important thing is

(1) them from gaining a foothold
in our (2) . As soon as we detect
the first (3) of temptation, we

should become watchful and (4)
our attention to good or noble thoughts.
©) we wait till the temptation

becomes too strong we are likely to fall.

Select the most appropriate
option to fill in the blank
No. 5.

1. Unless
2. If
3. Whether

4. Until

Ans :- 2




Parts of the following sentence are given as options. Identify
the segment that contains a grammatical error.

Bhanu finished to read such a thick book in just two days.

1. Bhanu finished

2. in just two day

3. such a thick book
4. to read

Ans ;- 4 ( reading)




Select the correct indirect narration of the given sentence. ...
She said, "We visited Uttarakhand in the summer vacation."

1. She said that they had visited Uttarakhand in the summer
vacation.

2. She said that we visited Uttarakhand in the summer

vacation.

3. She said that they will visit to Uttarakhand in the summer

vacation.

4. She said that they have visited Uttarakhand in the su

vacation.

Ans -1



Select the most appropriate word to fill in the blank.

The reckless young man was for the debts
incurred by him.

1. Audacious
2. liable

3. reliable

4. Suspicious

Ans :- 2




Given below are four jumbled sentences. Out of the

given options pick the one that gives their correct order.
A person who attracts attention with a flashy style

1. Glutton

2. Flamboyant
3. Jockey

4. VVagabond

Ans :- 2




Select the correctly spelt word.

1. Agression
2. Temprature
3. Millionare
4. Catalogue




Given below are four jumbled sentences. Out
of the given options pick the one that gives
their correct order.

A. It provides training for the development of
oral and aural skills and is a great supplement
to classroom teaching.

B. Technology is growing very fast day by day
and is contributing a lot towards improving
communication skills.

C. Thus, it is the responsibility of a teacher to
make the learners understand that their aim is
to master the language, not the technology.
D. However, it cannot be a substitute for the
conventional method of language teaching.

1.DACB

2. BCDA
3. BADC
4. ACBD




Select the most appropriate option to substitute the
underlined segment in the given sentence. If no substitution is
required, select No Improvement.

If he doesn’t score forty percent in all the subjects, he would
not be promoted to the next class.

1. will not be

2. is not being

3. was not being

4. No improvement

Ans :- 1




Select the most appropriate meaning of the given idiom.
Topaddle one's own canoe

1. To exercise hard
2. To take rest

3. Depend on oneself
4. To act in a childish way

Ans ;- 3



Select the most appropriate meaning of the given idiom.
Like a dying duck in a thunderstorm

1. Dejected
2. Confident

3. Daring
4. Comfortable

Ans ;- 1




Select the most appropriate synonym of
the given word.

Juvenile
1. Insane
2. Mature
3. Childish
4. Wise

Ans :- 3




Given below are four jumbled sentences. Out of the
given options pick the one that gives their correct order.

A person who preaches religion and is considered to be
a messenger of God.

1. Volunteer
2. Prophet
3. Scholar
4. Atheist

Ans :- 2




Select the most appropriate synonym of the given word.

Repercussion

1. Rearrangement
2. Reaction

3. Recollection

4. Reminder

Ans :- 2




In the sentence identify the segment which contains the
grammatical error.

All employees of the National Sugar Factory differ from their
boss on the medical and pension policy.

1. differ from their boss

2. on the medical and pension policy
3. All employees

4. of the National Sugar Factory

Ans :- 1




Select the most appropriate antonym of
the given word.

GROTESQUE

1. Monstrous
2. Attractive
3. Distorted
4. Ugly

Ans :- 2




Select the most appropriate option to substitute the
underlined segment in the given sentence. If no substitution
is required, select No Improvement.

No soon the Chief Minister step in than the bomb exploded.

1. No soon had the Chief Minister

2. No Improvement

3. No sooner did the Chief Minister
4. No sooner does the Chief Minister

Ans :- 3




Given below are four jumbled sentences. Out of the given

options pick the one that gives their correct order. 1. BACD

A. It was an honor as well as a relief to the family of the 2, GO
deceased. 3. BCAD

B. The district collector announced a gallantry award and 4. CDBA

financial aid for his family.

C. A soldier died fighting in the battlefield.

D. The money was promptly disbursed from the Prime
Minister’s Relief Fund.




Select the most appropriate word to fill in the
blank.

The unruly behaviour of the students
their teacher.

1. irritated
2. pleased

3. Comforted
4. calmed

Ans :- 1




In the sentence identify the segment which contains the

grammatical error.

She behaves in a such a cordial manner that everyone
admires her.

1. that everyone

2. She behaves in a

3. admires her

4. such a cordial manner

Ans :- 2 ( remove article ‘@’ before such )



Select the correctly spelt word.

1. Itinarary

2. Greivance

3. Sovereignty
4. Rennaissance




Select the correct passive form of the given sentence.
Why do you spend so much money?

1. Why is so much money being spent by you?
2. Why is so much money spent by you?

3. Why was so much money spent by you?

4. Why has so much money been spent by you?

Ans :- 2



Select the most appropriate meaning of the given

idiom.
Give a piece of one's mind

1. To advise someone
2. To donate something valuable
3. To rebuke someone strongly
4. To share one's ideas

Ans :- 3



Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no
need to substitute it, select No improvement.

He was greatly disappointed to be failed again.

1. No improvement
2. by being failed

3. to failed

4. on failing

Ans :- 4




In the sentence identify the segment which contains.the.
grammatical error.

The present what | buy for you yesterday was very
expensive.

1. was very expensive
2. The present

3. for you yesterday

4. what | buy

Ans :- 4




Select the most appropriate antonym of
the given word.

STRINGENT

1. Stern
2. Lenient
3. Severe
4. Strict




NON-EXISTENT

(A) Hypothetical
(B) Active

(C) Realistic
ORAEIEE







